

# Lamar County Board of Commissioners Staff Recommendation

Project:	LMIG & TSPLOST Paving	Location(s): Public Works
$\mathbf{T} = 1^{\mathbf{r}} \mathbf{n} \cdot \mathbf{C} + \mathbf{c} \cdot \mathbf{C}$		E 1() 100 8 200
Funding Source(s):	General & TSPLOST	Fund(s): 100 & 322

# 22-12-01 - 2023 Street Rehabilitation Project

Companies	Blo	Blount Construction		CW Matthews		Atlanta Paving		Piedmont Paving		McLeroy, Inc
Road Improvement	\$	1,227,177.13	\$	1,197,852.85	\$	1,245,848.17	\$	1,289,476.93	\$	1,363,557.50
	\$	1,227,177.13	\$	1,197,852.85	\$	1,245,848.17	\$	1,289,476.93	\$	1,363,557.50
Recommendation:	The Staff, Public Works and EXP recommends CW Matthews at \$1,197,825.85.								25.85.	

January 11, 2023

Sean Townsend Lamar County 408 Thompson Street, Suite E Barnesville, GA 30204

Re: FY 2023 Lamar County Phase 1 for Street Rehabilitation and Microsurfacing Various Roads Contract Award Recommendation for 22-12-01 and 22-12-02

Dear Sean:

Reference is made to the bids opened on January 10, 2023, held in Barnesville at 408 Thompson Street of the above projects which included sealed bids submitted by seven (7) contractors (5 were submitted for 22-12-01 – Street Rehabilitation contract ranging from \$1,197,852.85 to \$1,363,567.50 and 2 were submitted for 22-12-02 – Mircosurfacing construction for \$2,341,138.80 and \$2,510,426.62). EXP has reviewed bid documents of all packages submitted to ensure that all were complete and in accordance with requirements of bid advertisements. EXP has also compared the submitted bids with our engineer's estimate for both projects.

Эхµ.

All bids received were complete with Bid Schedule, Bid Bond, Representation, Oath, Acknowledgement of Addendum and Georgia Security and Immigration Compliance Act and were within reasonable range of the engineer's estimate for both projects.

Based on our review of contractors, bid packages and review of engineer's estimate it is our recommendation to award with the respective low bidders 22-12-01 for FY 2023 – Street Rehabilitation Project to C.W. Matthews with a submitted bid of \$ 1,197,852.85 and 22-12-02 for Microsurfacing of Various Lamar County Roads to Asphalt Paving Systems (APS) with a submitted bid of \$2,341,138.80.

Sincerely,

**Ritchie Swindell** 

## COUNTY: LAMAR

ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total
150-1000		LS	1	128,467,59	128,467.59
402-1802		TN	1,810	154.72	280,043.20
402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	TN	6,225	117.84	733,554.00
413-0750	BITUM TACK COAT	GL	9,000	3.25	29,250.00
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	18.36	1,155.00	21,205,80
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	15.35	1,155.00	17,729.25
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	2.23	577.50	1,287.83
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	130	15.75	2,047.50
654-1001	RAISED PAVMT MARKERS TP 1	EA	1612	4.72	7,608.64
654-1002	RAISED PAVMT MARKERS TP 2	EA	111	4.72	523.92
000-1000	PERMANENT LOW/SOFT SHOULDER SIGNS WITH POSTS (PROVIDE, ERECT AND REMOVE)	EA	12	455.00	5,460.00

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

\*\*\*Lamar County to retain Millings from patching operations Special Instructions included in Special Provisions and Scope of Work Specifications

Blount Construction Company, Inc.

\$1,227,177.73

Total Bid Price:\_\_\_\_\_

a a construction of the second sec

#### COUNTY: LAMAR

	ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total
	150-1000	TRAFFIC CONTROL -	LS	1	216,773.60	216,773.60
	402-1802		TN	1,810	132.00	238,920.00
Per Adden #1	402-3100	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, Type 1, Gp1 , Or Blend 1 incl Bitum Matl & H Lime (110 LB/SY)	TN	6,225	110,00	684,750.00
	413-0750	BITUM TACK COAT	GL	9,000	0.01	90,00
	652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	18.36	1,250.00	22,950.00
	652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	15.35	1,250.00	19,187.50
	652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	2.23	825.00	1,839.75
	653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	130	15.00	1,950.00
	654-1001	RAISED PAVMT MARKERS TP 1	EA	1612	4.00	6,448.00
	654-1002	RAISED PAVMT MARKERS TP 2	EA	111	4.00	444.00
						-
	000-1000	PERMANENT LOW/SOFT SHOULDER SIGNS WITH POSTS (PROVIDE, ERECT AND REMOVE)	EA	12	375.00	4,500.00

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

\*\*\*Lamar County to retain Millings from patching operations Special Instructions included in Special Provisions and Scope of Work Specifications

Contractor Name: C W Matthews Contracting Co., Inc.

. . . . . .

الراب العريبيي فقات المتحدثان الراب المعا

Total Bid Price: \$1,197,852.85 1111111 WWWWWWW THFW C //////

55

#### COUNTY: LAMAR

ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total
150-1000	TRAFFIC CONTROL -	LS	. 1	45,505.	45,505,68
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME***	ΤN	1,810	2	321,311.20
402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	TN	6,225	121.94	759,076,50
413-0750	BITUM TACK COAT	GL	9,000	5.70	51,300.00
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	18.36	1375.00	25,245,00
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	15.35	1375.04	21,104.25
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	2.23	1045.00	2330.35
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	130	11.28	1466,40
654-1001	RAISED PAVMT MARKERS TP 1	EA	1612	6.33	10,203.94
654-1002	RAISED PAVMT MARKERS TP 2	EA	111	6.33	707,63
	1				
000-1000	PERMANENT LOW/SOFT SHOULDER SIGNS WITH POSTS (PROVIDE, ERECT AND REMOVE)	EA	12	600.00	7,200.00

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

\*\*\*Lamar County to retain Millings from patching operations Special Instructions Included in Special Provisions and Scope of Work Specifications

Contractor Name: \_\_\_\_\_ Atlanta Paving & Concrete Construction, Inc.

Total Bid Price: 1,245,448,17

## COUNTY: LAMAR

ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total
150-1000	TRAFFIC CONTROL -	LS	1		74,830.00
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME***	TN	1,810	168.80	305,528.00
402-3100	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE I, GP 1 OR BLEND 1, INCL BITUM MATL & H LIME (110 LB/SY)	TN	6,225	129,11	803,709.75
413-0750	BITUM TACK COAT	GL	9,000	4.92	44,280.00
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	18.36	1,375.00	25,245.00
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	15.35	1,375.00	21,106.25
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	2.23	907.50	2,023.73
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	130	16.50	2,145.00
654-1001	RAISED PAVMT MARKERS TP 1	EA	1612	4.40	7,092.80
654-1002		EA	111	4.40	48.40
000-1000	PERMANENT LOW/SOFT SHOULDER SIGNS WITH POSTS (PROVIDE, ERECT AND REMOVE)	EA	12	289.00	3,468.00

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

\*\*\*Lamar County to retain Millings from patching operations Special Instructions included in Special Provisions and Scope of Work Specifications

Contractor Name:	Piedmont Paving, Inc.
Total Bid Price:	\$1,289,476.93

## COUNTY: LAMAR

ITEM NO.	DESCRIPTION	UNIT	QUANTITY	Unit Price	Total
150-1000	TRAFFIC CONTROL -	LS	11	\$191,550.00	\$191,550.00
402-1802	RECYCLED ASPH CONC PATCHING, INCL BITUM MATL & H LIME***	TN	<u>1,8</u> 10	\$199.20	\$360,552.00
402-3103	RECYCLED ASPH CONC 9.5 MM SUPERPAVE, TYPE II, GP 2 ONLY, INCL BITUM MATL & H LIME	TN	6,225	<u>\$115.05</u>	\$716.1 <u>86.25</u>
413-0750	BITUM TACK COAT	GL	9,000	\$4.25	\$38,250.00
652-2501	SOLID TRAF STRIPE, 5 IN, WHITE	LM	18.36	\$1,250.00	\$22,950.00
652-2502	SOLID TRAF STRIPE, 5 IN, YELLOW	LM	15.35	\$1,250.00	\$19, <u>18</u> 7.50
652-3502	SKIP TRAF STRIPE, 5 IN, YELLOW	GLM	2.23	\$825.00	\$1,839.75
653-1704	THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	LF	130	\$15.00	<b>\$1,950.00</b>
654-1001	RAISED PAVMT MARKERS TP 1	EA	1612	\$4.00	\$6,448.00
654-1002	RAISED PAVMT MARKERS TP 2	EA	111	\$4.00	\$444.00
					-
000-1000	PERMANENT LOW/SOFT SHOULDER SIGNS WITH POSTS (PROVIDE, ERECT AND REMOVE)	EA	12	\$350.00	\$4,200.00

#### DETAILED ESTIMATE with Contractor Bid (Unit Prices and Totals)

\*\*\*Lamar County to retain Millings from patching operations Special Instructions included in Special Provisions and Scope of Work Specifications

Contractor Name: McLeRoy, Inc.

Total Bid Price: \$1,363,557.50

\_\_\_\_\_